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Phys 100
Eall 2023

Concepts of Physics: Class 20
6 October 2023

1 Block and spring

A 4.0kg block is suspended from a spring. The block is pulled to the ground, stretching the
spring. The block is held at rest in this position and then released.

a) Determine the potential, kinetic, elastic and total energies of the block at the lowest
point of its swing.

b) Determine the potential, kinetic, elastic and total energies of the block at the instani at
which it reaches-its highest point.

¢) Determine the speed of the block at the halfway point.
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